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Задача K-15.1. 14

ψ = π/2, θ = 2
√

4t+ 2,
ϕ = (t/2) sin 4t+ 2t, x = 1, y = 8, z = 4.

t = 2 c.

Задача K-15.2. 14

ψ = 2t2 + 10t+ 3, θ = π/2,
ϕ = 5/(2t + 3), x = 2, y = 9, z = 3.

t = 1 c.

Задача K-15.3. 14

ψ = π/2, θ = t2 + 2t+ 4,
ϕ = 3(t+ 1)1/10, x = 1, y = 5, z = 4.

t = 1 c.

Задача K-15.4. 14

ψ = π/2, θ = 2
√

4t+ 2,
ϕ = (t/2) sin 4t+ 2t, x = 1, y = 9, z = 4.

t = 1 c.

Задача K-15.5. 14

ψ = 8 ln (3t+ 2), θ = π/2,
ϕ = 5/(2t+ 3), x = 2, y = 8, z = 3.

t = 2 c.

Задача K-15.6. 14

ψ = π/2, θ = 3t+ (t/4) cos2 8t,
ϕ = 12et/2, x = 1, y = 6, z = 4.

t = 3 c.

Задача K-15.7. 14

ψ = 6t+ (t) cos2 4t, θ = 8/(3t + 4),
ϕ = π/6, x = 3, y = 4, z = 4.

t = 1 c.

Задача K-15.8. 14

ψ = π/4, θ = (t/2) sin 4t+ 4t,
ϕ = 7/(t+ 2), x = 1, y = 3, z = 4.

t = 2 c.

Задача K-15.9. 14

ψ = π/4, θ = (t/2) sin 4t+ 4t,
ϕ = 14et/2, x = 1, y = 3, z = 4.

t = 2 c.

Задача K-15.10. 14

ψ = 3t2 + 6t+ 2, θ = (t/2) sin2 8t− 6t,
ϕ = π/2, x = 3, y = 5, z = 3.

t = 2 c.

Задача K-15.11. 14

ψ = 12et/4, θ = 5/(3t+ 4),
ϕ = π/2, x = 3, y = 1, z = 2.

t = 1 c.

Задача K-15.12. 14

ψ = (t/2) sin 6t+ 8t, θ = π/2,
ϕ = (t/2) sin 6t+ 2t, x = 2, y = 7, z = 1.

t = 2 c.

Задача K-15.13. 14

ψ = 7 ln (3t+ 2), θ = π/2,
ϕ = 5/(2t+ 3), x = 2, y = 7, z = 3.

t = 2 c.

Задача K-15.14. 14

ψ = π/2, θ = 3(t+ 1)1/10,
ϕ = 12et/2, x = 1, y = 7, z = 4.

t = 3 c.



Задача K-15.15. 14

ψ = 2t2 + 10t+ 3, θ = π/2,
ϕ = 2

√

3t+ 2, x = 2, y = 9, z = 3.

t = 2 c.

Задача K-15.16. 14

ψ = π/2, θ = 3t+ (t/4) cos2 8t,
ϕ = (t/2) sin 4t+ 2t, x = 1, y = 7, z = 4.

t = 3 c.

Задача K-15.17. 14

ψ = π/6, θ = 6t+ (t/4) cos2 8t,
ϕ = t2 + 5t+ 4, x = 1, y = 4, z = 4.

t = 3 c.

Задача K-15.18. 14

ψ = π/4, θ = 5t+ (t/4) cos2 8t,
ϕ = (t/2) sin 4t+ 4t, x = 1, y = 3, z = 4.

t = 1 c.

Задача K-15.19. 14

ψ = π/2, θ = 5/(t + 2),
ϕ = 12et/2, x = 1, y = 5, z = 4.

t = 2 c.

Задача K-15.20. 14

ψ = 2t2 + 2t+ 3, θ = π/2,
ϕ = 2

√

3t+ 2, x = 2, y = 1, z = 3.

t = 1 c.

Задача K-15.21. 14

ψ = 17et/3, θ = π/2,
ϕ = (t/2) sin 6t+ 2t, x = 2, y = 6, z = 2.

t = 1 c.

Задача K-15.22. 14

ψ = (t/2) sin 6t+ 7t, θ = π/2,
ϕ = (t/2) sin 6t+ 2t, x = 2, y = 6, z = 1.

t = 1 c.

Задача K-15.23. 14

ψ = π/2, θ = ln (4t+ 2),
ϕ = 12et/2, x = 1, y = 8, z = 4.

t = 3 c.

Задача K-15.24. 14

ψ = (t/2) sin2 6t− 4t, θ = π/4,
ϕ = 7/(2t + 3), x = 2, y = 3, z = 3.

t = 1 c.

Задача K-15.25. 14

ψ = 13/(3t + 4), θ = 20et/4,
ϕ = π/2, x = 3, y = 9, z = 2.

t = 1 c.

Задача K-15.26. 14

ψ = 11(t+ 1)1/5, θ = π/2,
ϕ = 3t+ (t/2) cos2 6t, x = 2, y = 9, z = 2.

t = 3 c.

Задача K-15.27. 14

ψ = (t/2) sin2 8t− 8t, θ = 9t+ (t) cos2 4t,
ϕ = π/2, x = 3, y = 7, z = 3.

t = 2 c.

Задача K-15.28. 14

ψ = 6
√

3t+ 6, θ = π/2,
ϕ = ln (3t+ 2), x = 2, y = 5, z = 4.

t = 2 c.

Задача K-15.29. 14

ψ = π/2, θ = 3(t+ 1)1/10,
ϕ = (t/2) sin2 4t− 2t, x = 1, y = 9, z = 4.

t = 2 c.

Задача K-15.30. 14

ψ = 5 ln (2t+ 2), θ = 9/(3t+ 4),
ϕ = π/2, x = 3, y = 5, z = 3.

t = 1 c.

K-15

Ответы.
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vx vy vz v ax ay az a

1 -8.732 2.802 -3.421 9.788 55.185 -32.433 27.122 68.474

2 26.293 -36.142 90.897 101.291 690.849 -1081.717 -635.341 20.713

3 0.375 16.117 -20.240 25.876 -5.039 -72.965 -74.929 13.516

4 -12.758 1.024 0.885 12.830 -54.238 1.699 -31.412 54.158

5 8.433 -6.304 11.189 15.363 21.795 -19.877 -40.201 9.775

6 -154.725 43.787 -26.999 163.052 -818.532 -4362.785 102.289 414.271

7 4.027 0.523 -3.543 5.389 -5.986 4.633 -7.404 1.191

8 -13.286 2.207 1.666 13.571 24.224 -4.897 -48.424 31.664

9 -62.266 5.127 11.722 63.567 -394.733 -1087.749 -95.697 315.576

10 -62.498 13.490 40.014 75.426 -427.325 -1045.095 272.786 488.669

11 -2.298 3.685 1.605 4.630 -12.258 -5.719 10.528 5.439

12 -40.471 14.924 -23.522 49.132 89.124 -256.903 -793.854 361.432

13 7.379 -5.567 8.070 12.270 12.875 -12.001 -30.769 7.647

14 -188.105 27.211 -0.593 190.064 -817.242 -5048.230 7.614 86.185

15 34.204 33.775 -124.127 133.110 -1800.922 -1313.176 -765.926 107.605

16 -16.306 -11.768 24.671 31.829 57.923 -256.022 180.294 216.865

17 -52.167 40.019 -26.977 71.068 -96.119 -598.836 -639.792 414.364

18 2.221 22.475 -17.412 28.518 -13.641 6.916 -205.091 154.177

19 -80.382 16.759 -0.853 82.115 -307.612 -1322.195 43.942 42.219

20 -5.625 20.166 -2.972 21.146 -1.809 -8.271 -145.087 33.139

21 -33.798 -5.398 49.992 60.586 -192.183 -516.815 -92.679 111.796

22 -32.104 0.292 62.457 70.226 -255.417 -729.109 -46.161 90.284

23 -214.704 27.954 -2.233 216.528 -830.991 -5772.088 30.821 80.668

24 11.557 2.674 -10.378 15.762 -42.302 -113.665 59.055 89.501

25 -6.725 -1.209 15.530 16.967 -132.928 28.751 -73.922 48.386

26 -55.199 11.653 2.761 56.483 -114.547 -312.480 -74.439 59.392

27 -3.034 -24.560 60.341 65.219 -749.980 -30.159 -597.471 511.320

28 -6.936 -8.327 13.876 17.607 -16.503 -31.338 -30.075 4.199

29 23.021 -2.159 -0.897 23.140 131.353 -75.254 2.622 137.803

30 -1.862 -5.088 10.342 11.676 3.007 -18.450 -17.698 11.859

K-15 файл o15k14B



ωx ωy ωz ω εx εy εz ε

1 -0.273 1.235 1.709 2.126 2.165 0.220 -7.915 8.209

2 11.781 7.564 -0.400 14.006 0.340 6.873 0.320 6.889

3 -3.989 0.295 0.161 4.003 -1.947 0.789 -0.072 2.102

4 -0.083 -1.631 0.693 1.774 -1.102 0.601 6.054 6.183

5 1.965 2.267 -0.204 3.007 -1.200 -0.449 0.117 1.286

6 -4.224 1.654 26.890 27.270 25.401 121.059 13.445 124.424

7 0.505 1.854 0.848 2.100 2.274 3.099 2.842 4.781

8 -0.661 -3.650 -0.438 3.735 3.007 7.499 0.219 8.082

9 3.475 -1.296 19.028 19.386 -32.069 -63.364 9.514 71.652

10 10.279 3.794 14.776 18.396 -52.639 -53.390 43.928 86.897

11 2.523 0.306 2.910 3.864 -0.260 -0.262 1.500 1.545

12 -5.860 -8.750 4.532 11.465 -45.027 18.532 9.658 49.641

13 1.720 1.983 -0.204 2.633 -1.050 -0.393 0.117 1.127

14 -0.080 0.031 26.890 26.890 0.863 2.150 13.445 13.643

15 -10.551 14.583 1.061 18.031 13.123 14.432 -0.199 19.507

16 3.864 2.377 3.688 5.846 26.213 -3.517 4.293 26.794

17 -7.255 -2.042 11.000 13.334 -42.177 74.252 2.000 85.418

18 -4.946 2.575 2.693 6.192 -20.249 27.469 6.054 34.658

19 -0.112 0.292 16.310 16.313 4.813 1.685 8.155 9.618

20 -5.828 -1.428 1.342 6.148 -5.801 6.867 -0.402 8.998

21 7.579 -2.258 4.881 9.293 -8.492 -37.744 5.029 39.013

22 9.469 -2.821 4.881 11.020 -8.946 -47.651 5.029 48.744

23 -0.266 0.104 26.890 26.892 2.877 7.124 13.445 15.486

24 -3.909 -0.674 -4.527 6.019 21.546 1.462 21.929 30.777

25 -0.415 -6.420 -0.679 6.469 -4.007 -1.605 3.244 5.399

26 0.149 -0.710 5.975 6.019 -4.274 -0.748 4.607 6.328

27 4.269 -10.152 -3.917 11.689 -79.107 -30.645 -7.247 85.145

28 2.269 -1.265 0.375 2.625 -0.758 -0.693 -0.141 1.037

29 -0.104 -0.040 -2.576 2.578 0.135 -0.256 -15.323 15.325

30 2.399 0.551 0.703 2.560 -1.587 -0.472 0.970 1.919


